						OF TELANGA					
			Anr	nual Caler	dar for the	Year 2025-26					
Sl. No.	Sl. No.	Title of the course	Category	Centre	CC	conc	onducted/ to be ducted rom & To	Duration	Expected/ attended No. of Trainees	No.of Trainee days	Mode of Training
1	2	3	4	5	6	7	8	9	10	11	12
			•		Apri	12025	•	•		•	•
1	1	Practical Training Program for IAS (P) 2023 Batch	State	CDS	Dr.KUR	02-04-2025	04-04-2025	3	7	21	Physical
2	2	Foundation Course for Junior Assistants	State	CLP	Saka	02-04-2025	03-05-2025	32	61	1952	Physical
3		174th Induction Training Programme for SA's / JA's of T&A Department (17.3.25 to 30.5.25)	State	CFE AcTW	YR	02-04-2025	30-05-2025	60	48	3600	Physical
4		Training Programme on Communication and Media.	GOI	CIS	KK	07-04-2025	09-04-2025	3	27	81	Physical
5		Training on Continuous Professional Development and Improving Learning Outcomes	GOI	CMB	Dr.KVS	07-04-2025	09-04-2025	3	28	84	Physical
6		Induction & Capacity Building Program to the newly recruited PETs working in TG Triabl Welfare Residential Educational Instutions society (TGTWREIS)	SP	СМВ	Dr.DTC	07-04-2025	11-04-2025	5	71	355	Physical
7	7	Training Program for the Newly Recruited PETs working in EMR Schools	SP	CMB	Dr.DTC	07-04-2025	11-04-2025	5	31	155	Physical
8	8	Training Program on Citizen-Centric Governance: Role of Prajavani in Telangana	GOI	CTS	Dr.P.S	07-04-2025	09-04-2025	3	33	99	Physical
9	9	Orienation on Promoting Sustainable Development at Grass Root Level	GOI	CDS	PVG	07-04-2025	09-04-2025	3	31	93	Physical
10	10	Training Program to the newly recruited J.As working in MJPTBCWRI	SP	CMB	Dr.KVS	08-04-2025	11-04-2025	4	49	196	Physical
11		Induction Program for the newly recruited TGTs/PGTs working in EMR Schools	SP	CMB	Dr.DTC	15-04-2025	17-04-2025	3	51	153	Physical
12		Induction Program for the newly recruited Hostel Wardens working in EMR Schools	SP	СМВ	Dr.DTC	15-04-2025	17-04-2025	3	21	63	Physical
13	13	Induction Program for the newly recruited Physical Directors working in TGTWREIS	SP	CMB	Dr.KVS	15-04-2025	17-04-2025	3	53	159	Physical

14	14	Speicialised Training Programme on Income Tax - Filing 24G & 24Q Forms, GST & Uploads	GOI	CFE (AcTW)	KNR	21-04-2025	23-04-2025	3	31	93	Physical
15	15	Orientation Course on Prevention Crimes against children - procedure of Prevention and related acts	GOI	CIS	GJR	21-04-2025	23-04-2025	3	24	72	Physical
16	16	Orientation Training Programme on eOffice Management	GOI	CIT	Md.K	21-04-2025	23-04-2025	3	30	90	Physical
17	17	Orientation Training Programme on eOffice Management	State	CIT	Ch.S	21-04-2025	23-04-2025	3	29	87	Physical
18	18	Advanced Workshop on 'Noting and Drafting Skills'	GOI	CLP	Saka	21-04-2025	23-04-2025	3	30	90	Physical
19	19	Public Policy on Good Governance & Project Management for the Nagaland State civil Services Officers	SP	CLP	Dr.RM	21-04-2025	25-04-2025	5	11	55	Physical
20	20	Training Program on Jr.Assistants on DoM and JA,s Role in Office working in MJPTBCWREI	SP	CMB	Dr.KVS	21-04-2025	25-04-2025	5	48	240	Physical
21	21	Training Programme to Senior Auditors and Assistant Audit Officers on AMC audits and use of Soft Ware applications in AMCs and use of Audit online application in conduct of audit of Panchayat Raj Institutions.	GOI	CFE (AdTW)	K.Babu	21-04-2025	23-04-2025	3	28	84	Physical
22	22	Training Program on Empowering communities and strategies for Health Promotion	State	CDS	PVG	24-04-2025	26-04-2025	3	30	90	Physical
23	23	Training Programme for MPSOs/ ASOs of Economics & Statistics Department on Efficient Data Collection and Analysis	GOI	CIS	KSR	24-04-2025	26-04-2025	3	35	105	Physical
24	24	Training Programme on Handling Court Case & Drafting Parawise Remarks	GOI	CLP	Dr.RM	24-04-2025	26-04-2025	3	29	87	Physical
25	25	Capacity Building Program on Leadership and Change Management	GOI	CMB	Dr.DTC	24-04-2025	26-04-2025	3	30	90	Physical
26	26	Basisc course on Breed Development and Calf Rearing	GOI	CDS	KCJ	24-04-2025	26-04-2025	3	28	84	Physical
27	27	Training Program on Education Reforms & Challenges	GOI	CDS	Dr.KUR	24-04-2025	26-04-2025	3	27	81	Physical

28	28	Training Program on SDG - 4 Quality Education	GOI	CDS	Dr.KUR	24-04-2025	26-04-2025	3	26	78	Physical
29	29	Basic Course on Tenders & e-procurement	GOI	CLP	Dr.KS	24-04-2025	26-04-2025	3	30	90	Physical
30	30	SPIPA-FoundationTraining of Gazetted Officers Class-I & II (Gujarat)	SP	CDS	Dr.KUR	28-04-2025	02-05-2025	5	54	270	Physical
31	31	Training Program on Disaster Management	SP-NIDM	CDS	PVG	28-04-2025	30-04-2025	3	66	198	Physical
32		Advanced Workshop on 'Noting and Drafting Skills'	GOI	CLP	Saka	28-04-2025	30-04-2025	3	32	96	Physical
33	33	Training Program on Army and Civil Coordination - Aid to Civil Authority	GOI	CTS	Dr.P.S	28-04-2025	30-04-2025	3	27	81	Physical
								196	1156	9172	
						2025					
34	1	Training Program on How to Improve Learning Outcomes in Classroom	GOI	CMB	Dr.DTC	01-05-2025	03-05-2025	3	22	66	Physical
35	2	Distrcit attachment for IAS (P) 2024 Batch (Telangana cadre)	State	CDS	Dr.KUR	05-05-2025	22-06-2025	49	5	245	Physical
36	3	Refresher Training Porgramme on Service Rules, Scrutiny of bills, GST and Income Tax -Batch-4	GOI	CFE (AcTW)	KNR	05-05-2025	07-05-2025	3	28	84	Physical
37	4	Specialized training programme on MS Office	GOI	CIT	Ch.S	05-05-2025	07-05-2025	3	30	90	Physical
38	5	Refresher training on 'Noting and Drafting Skills"	GOI	CLP	Saka	05-05-2025	07-05-2025	3	25	75	Physical
39	6	Orientation training program for Newly Recruited Town Planning Building overseers (TPBOs)	SP	CLP	Dr.KS	05-05-2025	10-05-2025	6	54	324	Physical
40	7	World Intellectual Property Organization (WIPO) - RGNIIPM - Advance Certificate Training Program for Patents Examiners	SP	CMB	Dr.DTC	05-05-2025	16-05-2025	14	39	546	Physical
41	8	Foundation Course for Junior Assistants	State	CTS	Dr.P.S	05-05-2025	02-06-2025	29	53	1537	Physical
42	9	BIPARD- Training -cum-Explosure visit for Agriculture officers of Bihar	SP	CDS	KCJ	05-05-2025	11-05-2025	7	196	1372	Physical
43	10	Training Programme for Deputy Statistical Officers of Economic & Statistical Dept. (Theme - Supportive Supervision)	GOI	CIS	KSR	05-05-2025	07-05-2025	3	26	78	Physical

44	11	Specialized training programme on MS Office	State	CIT	Md.K	05-05-2025	07-05-2025	3	25	75	Physical
45	12	BIPARD- Training-Cum-Explosure vist for the Officers of 69th BPSC batch.	SP	CLP	Dr.RM	05-05-2025	10-05-2025	6	78	468	Physical
46	13	Advance Course on Noting & Drafting	GOI	CLP	Dr.KSK	07-05-2025	09-05-2025	3	28	84	Physical
47	14	Induction Training for Divisional Accounts Officers (DAOs) (Works) Gr-II	State	CFE (AcTW)	KNR	12-05-2025	12-09-2025	124	52	6448	Physical
48	15	Orientation training program for Newly Recruited Town Planning Building overseers (TPBOs)	SP	CLP	Dr.KS	12-05-2025	17-05-2025	6	55	330	Physical
49	16	Effective Service Delivery for Organisational Excellence	Sevottam	CTS	Dr.P.S	12-05-2025	14-05-2025	3	30	90	Physical
50	17	Training Program for the Principals of MJPTBCWREIS	SP	CMB	Dr.KVS	14-05-2025	17-05-2025	3	90	270	Physical
51	18	Training Programme on Communication and Presentation Skills.	GOI	CIS	KK	15-05-2025	17-05-2025	3	24	72	Physical
52	19	Training Program on Artificial Intelligence for Good Governance	GOI	CIT	Md.K	15-05-2025	17-05-2025	3	30	90	Physical
53	20	Refresher training on 'Noting and Drafting Skills"	GOI	CLP	Saka	15-05-2025	17-05-2025	3	36	108	Physical
54	21	Political, Economic and Cultural History of Telangana through Ageis	GOI	CMB	GVL	15-05-2025	17-05-2025	3	25	75	Physical
55	22	Training Program on Public Health and Community Outreach	GOI	СМВ	Dr.KVS	15-05-2025	17-05-2025	3	28	84	Physical
56	23	Training Program on Artificial Intelligence for Good Governance	State	CIT	Ch.S	15-05-2025	17-05-2025	3	32	96	Physical
57	24	Orientation of Fish Seed Production & Rearing and Disribution	GOI	CDS	KCJ	15-05-2025	17-05-2025	3	30	90	Physical
58	25	Orientation Program for D.Ds, DAO, Aos in Scrutinizing audit reports and taking effective follow of action	State	CFE (AdTW)	GVRK	16-05-2025	17-05-2025	2	35	70	Physical
59	26	Training Programme Calculation of retirement/terminal benefits under Old Pension System and Processing of PPOs received from the AG & DAO.	GOI	CFE (AcTW)	KNR	19-05-2025	21-05-2025	3	33	99	Physical

60	27	Orientation Programme on Services and	GOI	CIS	GJR	19-05-2025	21-05-2025	3	31	93	Physical
		Activities related to Differently Abled									
		persons, Transgender and Senior Citizens									
61	28	Lok Sabha Secretariat - Management	SP	CDS	Dr.KUR	19-05-2025	23-05-2025	5	33	165	Physical
		Development Program of Private									
		Secretaries and Stenographic Services									
62	29	Specialised Training Programme on Data	State	CIT	Md.K	22-05-2025	24-05-2025	3	20	60	Physical
		Analytics with Excel									
63	30	Specialised Training Programme on Data	GOI	CIT	Ch.S	22-05-2025	24-05-2025	3	30	90	Physical
		Analytics with Excel									
64		Advance Course on Noting & Drafting	GOI	CLP	Dr.KSK	22-05-2025	24-05-2025	3	29	87	Physical
65	32	Basic Course on Tenders & e-procurement	GOI	CLP	Dr.KS	22-05-2025	24-05-2025	3	23	69	Physical
66	33	142nd Level D Training - State Attachment	SP	CDS	KCJ	26-05-2025	06-06-2025	14	23	322	Physical
		for Section Officers									
67		Refresher Course on Service Matters	GOI	CLP	Dr.KSK	26-05-2025	28-05-2025	3	31	93	Physical
68	35	Orientation training program for Newly	SP	CLP	Dr.KS	26-05-2025	31-05-2025	6	22	132	Physical
		Recruited Town Planning Building									
		overseers (TPBOs)									
69	36	Robust Service Delivery Mechanism	Sevottam	CMB	Dr.KVS	26-05-2025	28-05-2025	3	31	93	Physical
		Through Sevottam Model for increased									
		Citizens Satisfaction									
70	37	Foundation Course for Junior Assistants	State	CLP	Dr.KS	26-05-2025	24-06-2025	30	44	1320	Physical
		(batch-1)									
71	38	Foundation Course for Junior Assistants	State	CLP	Dr.KS	26-05-2025	24-06-2025	30	54	1620	Physical
		(batch-2)									
72	39	Training - cum - Explosure visit for	SP	CMB	Dr.DTC	29-05-2025	31-05-2025	3	126	378	Physical
		Panchayati Raj Institutions (PRI) for									
		Mukhiyas and Block Pramukhs of Bihar									
		state									
73	40	Training Program on Leadeship and	GOI	CMB	Dr.DTC	29-05-2025	31-05-2025	3	28	84	Physical
		Governance						406	1634	17572	

74	1	Orientation training Program on RTI Act for newly appointed SCIC, SICs and personnel working in the Peshi's of SCIC and SICs of Telangana Information Commission.	State	CIS	KSR	03-06-2025	06-06-2025	4	25	100	Physical
75	2	Training Program on Skill Development and Competency Enhancement	GOI	CMB	Dr.KVS	03-06-2025	05-06-2025	3	30	90	Physical
76	3	Training Programme for MPSOs/ ASOs of Economics & Statistics Department on Efficient Data Collection and Analysis	GOI	CIS	KSR	09-06-2025	11-06-2025	3	28	84	Physical
77	4	Ensuring hassle-free time bound quality develorery of Public Services through sevottam frame work (PP)	Sevottam	CDS	PVG	09-06-2025	11-06-2025	3	30	90	Physical
78	5	Specialized training programme on MS Office Tools	GOI	CIT	Md.K	09-06-2025	11-06-2025	3	30	90	Physical
79	6	Induction & Capacity Building Program to the newly recruited Junior Lecturers of GJCs of Telangana State - Batch 1	SP	CMB	Dr.DTC	09-06-2025	11-06-2025	3	50	150	Physical
80	7	Induction & Capacity Building Program to the newly recruited Junior Lecturers of GJCs of Telangana State- Batch-2	SP	СМВ	Dr.DTC	09-06-2025	11-06-2025	3	50	150	Physical
81	8	Promotion of sports culture in schools and colleges with special reference to Telangana	GOI	CTS	Dr.P.S	09-06-2025	11-06-2025	3	31	93	Physical
82	9	Specialized training programme on MS Office Tools	State	CIT	Ch.S	09-06-2025	11-06-2025	3	22	66	Physical
83	10	Induction & Capacity Building Program to the newly recruited Junior Lecturers of GJCs of Telangana State- 3	SP	CMB	Dr.DTC	11-06-2025	13-06-2025	3	38	114	Physical
84	11	Induction & Capacity Building Program to the newly recruited Junior Lecturers of GJCs of Telangana State- Batch-4	SP	CMB	Dr.DTC	11-06-2025	13-06-2025	3	42	126	Physical
85	12	Orientation on Emerging Technologies in Horticulture Crop Production	GOI	CDS	KCJ	11-06-2025	13-06-2025	3	30	90	Physical
86	13	Induction Training program for Indian Economic Service (ITP) Officers	SP	CDS	Dr.KUR	16-06-2025	27-06-2025	14	25	350	Physical
87	14	Training Programme on salient features of National Pension System, Uploading of amounts to PRAN, Exit and wihdrawals.	GOI	CFE (AcTW)	KNR	16-06-2025	18-06-2024	3	29	87	Physical

88	15	Training Programme on Public Relations.	GOI	CIS	GJR	16-06-2025	18-06-2025	3	30	90	Physical
89	16	Awareness programme on Cyber Security	State	CIT	Md.K	16-06-2025	18-06-2025	3	31	93	Physical
90	17	Awareness programme on Cyber Security	GOI	CIT	Ch.S	16-06-2025	18-06-2025	3	30	90	Physical
91	18	Foundation Course for Junior Assistants	State	CLP	Dr.KSK	16-06-2025	11-07-2025	26	53	1378	Physical
92	19	2 week ITEC - Training Program on Journalism and Public Relations from Ethiopia, Kenya, Tajikistan, South sudan, Seychelles, Bangladesh, mozambique, Trinidad & Tobago, Sierra Leone, Lesotho	SP	CLP	Dr.RM	16-06-2025	28-06-2025	14	49	686	Physical
93	20	Induction & Capacity Building Program to the newly recruited Junior Lecturers of GJCs of Telangana State- Batch-5	SP	CMB	Dr.DTC	16-06-2025	18-06-2025	3	53	159	Physical
94	21	Induction & Capacity Building Program to the newly recruited Junior Lecturers of GJCs of Telangana State- Batch-6	SP	CMB	Dr.DTC	16-06-2025	18-06-2025	3	51	153	Physical
95		Training Program on Public Health and Nutrition	GOI	CMB	Dr.KVS	16-06-2025	18-06-2025	3	29	87	Physical
96	23	Direct Trainer Skills (DTS) National	GOI	CMB	Dr.DTC	16-06-2025	20-06-2025	5	23	115	Physical
97		Refresher Effective Stress Management-A path to Mental Well Being	GOI	CDS	KCJ	16-06-2025	18-06-2025	3	25	75	Physical
98	25	Module development W/S for Devp. of Trg. Modules under the DARPG Project on CoE on RTI & Grama Sabha	SP- DARPG	CIS	KSR	18-06-2025	19-06-2025	2	12	24	Physical
99	26	Advance Course on Office Management	GOI	CLP	Dr.KSK	19-06-2025	21-06-2025	3	24	72	Physical
100	27	Importance of Forts & Fortifications moulding mideval history of deccan	GOI	CTS	GVL	19-06-2025	21-06-2025	3	29	87	Physical
101	28	Basic Course on Water Quality Monitoring & Surveillance	GOI	CLP	Dr.KS	19-06-2025	21-06-2025	3	29	87	Physical
102	29	Training Program on Taxation in Local Governments and its Audit	State	CFE (AdTW)	GM	20-06-2025	21-06-2025	2	29	58	Physical
103	30	Training Program on Sevottam Model for Effective Grievance Redressal Mechanism	Sevottam	CLP	Dr.KS	23-06-2025	25-06-2025	3	30	90	Physical
104		Bystander Intervention in combating crimes against women and children	GOI	CIS	KSR	23-06-2025	25-06-2025	3	37	111	Physical
105	32	Induction & Capacity Building Program for the newly recruited (civics) Jr. Lecturers in Govt. Jr.Colleges of TG	SP	CMB	Dr.DTC	23-06-2025	25-06-2025	3	65	195	Physical

106		Induction & Capacity Building Program for the newly recruited (Chemistry) Jr.	SP	CMB	Dr.DTC	23-06-2025	25-06-2025	3	112	336	Physical
		Lecturers in Govt. Jr.Colleges of TG									
107		Direct Trainer Skills (DTS) State	GOI	CDS	Dr.KUR	24-06-2025	28-06-2025	5	19	95	Physical
108		Traning Program on History and its Importance	GOI	CMB	GVL	26-06-2025	28-06-2025	3	27	81	Physical
109		Induction & Capacity Building Program for the newly recruited (Economics) Jr. Lecturers in Govt. Jr.Colleges of TG	SP	CMB	Dr.DTC	26-06-2025	28-06-2025	3	83	249	Physical
110		Induction & Capacity Building Program for the newly recruited (Physcis) Jr. Lecturers in Govt. Jr.Colleges of TG	SP	CMB	Dr.DTC	26-06-2025	28-06-2025	3	111	333	Physical
111		Induction & Capacity Building Program for the newly recruited Staff of TG Tribal welfare residential Edn.Institutions-Batch-1	SP	CMB	Dr.KVS	27-06-2025	28-06-2025	2	50	100	Physical
112		Induction & Capacity Building Program for the newly recruited Staff of TG Tribal welfare residential Edn.Institutions-Batch-II	SP	CMB	Dr.KVS	27-06-2025	28-06-2025	2	50	100	Physical
113		Induction & Capacity Building Program for the newly recruited staff appointed by the NESTA, MoTA,GOI for EMRSs staff sponsored by APTWREIS B-I	SP	СМВ	Dr.KVS	30-06-2025	04-07-2025	5	36	180	Physical
114		Induction & Capacity Building Program for the newly recruited staff appointed by the NESTA, MoTA,GOI for EMRSs staff sponsored by APTWREIS B-II	SP	CMB	Dr.KVS	30-06-2025	04-07-2025	5	36	180	Physical
115	42	In Service Program on Empowermnet in difficult subjects for PGTs of Mathematics (phy.science)	SP	CMB	Dr.KVS	30-06-2025	30-06-2025	1	36	36	Physical
116		In Service Program on Empowermnet in difficult subjects for PGTs of Mathematics (bio.science)	SP	СМВ	Dr.KVS	30-06-2025	30-06-2025	1	36	36	Physical
								175	1685	7056	
					July	2025					
117	1	Foundation Course for Junior Assistants	State	CLP	Dr.KS	01-07-2025	30-07-2025	30	51	1530	Physical

118	2	In Service Program on Empowermnet in difficult subjects for PGTs of Mathematics (Social)	SP	CMB	Dr.DTC	01-07-2025	02-07-2025	2	41	82	Physical
119		Induction & Capacity Building Program for the newly recruited (Zoology) Jr. Lecturers in Govt. Jr.Colleges of TG	SP	СМВ	Dr.DTC	01-07-2025	03-07-2025	3	125	375	Physical
120	4	Refresher Training Porgramme on Service Rules, Scrutiny of bills, GST and Income Tax	GOI	CFE (AcTW)	KNR	02-07-2025	04-07-2025	3	29	87	Physical
121	5	Module development W/S for Devp. of Trg. Modules under the DARPG Project on CoE on RTI & Grama Sabha	SP- DARPG	CIS	KSR	02-07-2025	02-07-2025	1	12	12	Physical
122	6	In Service Program on Empowermnet in difficult subjects for PGTs of Mathematics (Maths)	SP	СМВ	Dr.KVS	03-07-2025	04-07-2025	2	46	92	Physical
123	7	In Service Program on Empowermnet in difficult subjects for PGTs of Mathematics (English)	SP	СМВ	Dr.KVS	03-07-2025	04-07-2025	2	27	54	Physical
124	8	Induction & Capacity Building Program for the newly recruited (Botany) Jr. Lecturers in Govt. Jr.Colleges of TG	SP	СМВ	Dr.DTC	03-07-2025	05-07-2025	3	112	336	Physical
125	9	Training Program Prision Reforms in Telangana	GOI	CTS	Dr.P.S	03-07-2025	05-07-2025	3	29	87	Physical
126	10	Gender Specific Issues - POCSO, Child Marriages and Domestic Violence	GOI	CDS	PVG	07-07-2025	09-07-2025	3	29	87	Physical
127	11	175th Induction Training Program for Sr.Accountants & Jr.Accts of T & A Department	State	CFE (AcTW)	GVRK	07-07-2025	19-09-2025	75	41	3075	Physical
128	12	Specialised Training programme on Pay Fixations in different conditions of service	GOI	CFE (AcTW)	YR	07-07-2025	09-07-2025	3	29	87	Physical
129	13	Trainer Development programme on Evaluation of Training (EoT)	GOI	CIS	KSR	07-07-2025	11-09-2025	5	16	80	Physical
130	14	Orientation Training Programme on eOffice Management	GOI	CIT	Md.K	07-07-2025	09-07-2025	3	30	90	Physical
131	15	Orientation Training Programme on eOffice Management	State	CIT	Ch.S	07-07-2025	09-07-2025	3	24	72	Physical

132	16	A week long Exposure vist-cum -Training program on Public Administration and Good Governance for Deputy Collectors from RCVP Noronha, AA&M, Bhopal	SP	CLP	Dr.RM	07-07-2025	11-07-2025	5	27	135	Physical
133	17	One day -In service program on empowerment in difficult subjects for TGTs of TGTWREIS (Science)	SP	CMB	Dr.KVS	07-07-2025	07-07-2025	1	57	57	Physical
134	18	Induction and Capacity Building program for the Newly recruited Junior Lecturers in Govt. Jr.Colleges of TG (TGBIE) (English)	SP	CMB	Dr.DTC	07-07-2025	09-07-2025	3	143	429	Physical
135	19	Induction and Capacity Building program for KRPs of Southeren States by NCERT	SP	CMB	Dr.DTC	07-07-2025	11-07-2025	5	50	250	Physical
136	20	Ground Water Management and Regulation with help of GIS Applications	GOI	CDS	KCJ	07-07-2025	09-07-2025	3	31	93	Physical
137	21	One day -In Service Program on Empowerment in difficult subjects for PGTs of Social	SP	СМВ	Dr.DTC	08-07-2025	08-07-2025	1	89	89	Physical
138	22	Importance of Archives in rewriting of history	GOI	CMB	GVL	09-07-2025	11-07-2025	3	25	75	Physical
139	23	Induction and Capacity Building program for the Newly recruited Junior Lecturers in Govt. Jr.Colleges of TG (TGBIE) (Botany	SP	CMB	Dr.DTC	09-07-2025	11-07-2025	3	107	321	Physical
140		Induction and Capacity Building program for the Newly recruited Junior Lecturers in Govt. Jr.Colleges of TG (TGBIE) (Telugu/ Urdu/ Sanskrit/ Arabic)	SP	CMB	Dr.DTC	09-07-2025	11-07-2025	3	88	264	Physical
141	25	Training Programme for Deputy Statistical Officers of Economic & Statistical Dept. (Theme: Supportive Supervision)	GOI	CIS	KSR	14-07-2025	16-07-2025	3	25	75	Physical
142	26	Orientation Training Programme on Emerging Technologies	GOI	CIT	Md.K	14-07-2025	16-07-2025	3	30	90	Physical
143	27	Orientation Training Programme on Emerging Technologies	State	CIT	VJ	14-07-2025	16-07-2025	3	31	93	Physical
144	28	In Service Program on Empowerment in difficult subjects for PGTs of TGTWREIS	SP	CMB	Dr.DTC	14-07-2025	15-07-2025	2	68	136	Physical

145	29	Induction and Capacity Building program for the Newly recruited Junior Lecturers in Govt. Jr.Colleges of TG (TGBIE) (Hindi)	SP	CMB	Dr.DTC	14-07-2025	16-07-2025	3	115	345	Physical
146	30	In service program on empowerment in difficult subjects for TGTs of Mathematics	SP	CMB	Dr.DTC	14-07-2025	15-07-2025	2	35	70	Physical
147	31	In Service Program on Empowerment in difficult subjects for PGTs of English	SP	CMB	Dr.DTC	16-07-2025	17-07-2025	2	60	120	Physical
148	32	Basic Course on Drug Abuse in Youth: Intervention Strategies for Prevention, Enforcement and Treatment	GOI	CIS	GJR	17-07-2025	19-07-2025	3	45	135	Physical
149	33	Basic Course on Storm Water Management	GOI	CLP	Dr.KS	17-07-2025	19-07-2025	3	30	90	Physical
150	34	Capacity Building Program for Principals of Government Colleges	GOI	CMB	Dr.DTC	17-07-2025	19-07-2025	3	27	81	Physical
151	35	Capacity Building Program for Principals of Government Colleges (pre-poned prog) 23.10.2025 to 25.10.2025	GOI	СМВ	Dr.DTC	17-07-2025	19-07-2025	3	27	81	Physical
152	36	Climate Change and Sustainability - Mitigation and Adaptation for a Greener tomorrow	GOI	CDS	KCJ	17-07-2025	19-07-2025	3	27	81	Physical
153	37	Orientation on Counseling Skills - Students Mental Health	GOI	CDS	Dr.KUR	17-07-2025	19-07-2025	3	29	87	Physical
154	38	Orientation Training Programme to Junior Auditors, Senior Auditors and Assistant Audit Officers on Temple Audits/ Universities Audit / Pensions	GOI	CFE (AdTW)	GM	17-07-2025	19-07-2025	3	26	78	Physical
155	39	Role of Equine in Indian History:Retrospects and prospect	GOI	CTS	Dr.P.S	22-07-2025	24-07-2025	3	30	90	Physical
156	40	Capacity Building program to the Teachers of TGTWERIS & EMRs on computing & coding curriculum	SP	CMB	Dr.DTC	23-07-2025	26-07-2025	4	100	400	Physical
157	41	Agriculture Practices and Government Initiatives for Sustainable Development (Postponed from May 2025)	GOI	CDS	KCJ	24-07-2025	26-07-2025	3	30	90	Physical
158	42	Ensuring accountability and transparency in governance through effective implementation of sevottam frame work for increased citizens satisfaction	Sevottam	CFE (AdTW)	GM	24-07-2025	26-07-2025	3	30	90	Physical

159	43	Basic course on Women Led Development and Economic Empowerment of Women in Telangana	GOI	CIS	KSR	24-07-2025	26-07-2025	3	30	90	Physical
160	44	Training Program on Plan Your Retirement	State	CIS	GJR	24-07-2025	26-07-2025	3	80	240	Physical
161	45	Sevottam Model: Ensuring Trust in Governance through Effective Service Delivery	Sevottam	CIT	VJ	24-07-2025	26-07-2025	3	30	90	Physical
162	46	Basic Course on "Fundamentals of English Communications"	GOI	CLP	Dr.RM	24-07-2025	26-07-2025	3	30	90	Physical
163	47	Training Program on Evalution of Temple Architecture in Deccan	GOI	CMB	GVL	24-07-2025	26-07-2025	3	30	90	Physical
164	48	Training Program on Safety, Security, Health and Nutrition of Residential Educational Institutions	GOI	CMB	Dr.KVS	24-07-2025	26-07-2025	3	30	90	Physical
165	49	Training Program on Safety, Security, Health and Nutrition of Residential Educational Institutions (pre-poned from dt.20.11.2025 to 22.11.2025)	GOI	CMB	Dr.KVS	24-07-2025	26-07-2025	3	30	90	Physical
166	50	Telangana History, Culture and Heritage of Telangana through ages	State	CMB	GVL	24-07-2025	26-07-2025	3	30	90	Physical
167	51	Role of Leadeship in Quality Education	GOI	CDS	Dr.KUR	24-07-2025	26-07-2025	3	30	90	Physical
168	52	Specialized Training Programme on Office Productivity	GOI	CIT	Ch.S	28-07-2025	30-07-2025	3	30	90	Physical
169	53	Specialized Training Programme on Office Productivity	State	CIT	VJ	28-07-2025	30-07-2025	3	30	90	Physical
170	54	Training Program on Poverty Alleviation programs in Urban areas in Telangana	GOI	CTS	Dr.P.S	28-07-2025	30-07-2025	3	39	117	Physical
171	55	Capacity Building program to the Teachers of TGTWERIS on computing & coding curriculum	SP	CMB	Dr.DTC	28.07.2025	31.07.2025	4	103	412	Physical
172		Capacity Building program to the Teachers of EMRs on computing & coding curriculum	SP	CMB	Dr.DTC	28.07.2025	31.07.2025	4	22	88	Physical
173	57	Design of Training (DoT) State	GOI	CDS	Dr.KUR	29-07-2025	02-08-2025	5	10	50	Physical
174	58	Training Program on Handling Court Case & Drafting Parawise Remarks for Nagaland State Civil Services and NSSO	SP	CLP	Dr.RM	29-07-2025	31-07-2025	3	20	60	Physical
175	59	Refresher Course on Service Matters	GOI	CLP	Dr.KSK	31-07-2025	02-08-2025	3	30	90	Physical

								275	2627	12048	
					Augus	st2025			•	•	•
176	1	Foundation Course for Junior Assistants	State	CLP	Dr.KSK	01-08-2025	02-09-2025	33	50	1650	Physical
177	2	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Maths)	SP	CMB	Dr.DTC	01-08-2025	02-08-2025	2	193	386	Physical
178	3	NEP-Quality Education (Designing Online and Blended courses and new evaluation methods)	GOI	CDS	Dr.KUR	04-08-2025	06-08-2025	3	30	90	Physical
179	4	Sevottam Model: Ensuring Trust in Governance through Effective Service Delivery	Sevottam	CDS	Dr.KUR	04-08-2025	06-08-2025	3	30	90	Physical
180	5	Orientation Training Programme on Cyber Security	GOI	CIT	VJ	04-08-2025	06-08-2025	3	30	90	Physical
181	6	Orientation Training Programme on Cyber Security	State	CIT	Md.K	04-08-2025	06-08-2025	3	30	90	Physical
182	7	Training Programme on Prevention of Atrocities Against Children, Women & Senior citizens-Role of Government Officials (Re-Schedule Program June "25)	GOI	CLP	Dr.RM	04-08-2025	06-08-2025	3	30	90	Physical
183	8	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Physics)	SP	CMB	Dr.DTC	04-08-2025	05-08-2025	2	255	510	Physical
184	9	Leadership and Governance for Institutional Excellence	GOI	CMB	Dr.KVS	04-08-2025	06-08-2025	3	30	90	Physical
185	10	Induction & Capacity Building Program to the newly recruited Jr.Assts of TGMREIS of TG	SP	CMB	Dr.KVS	04-08-2025	07-08-2025	4	80	320	Physical
186	11	Foundation Course for Newly Recruited Assistant Motor Vehicle Inspectors (AMVIs)	SP	CDS	Dr.KUR	05.08.2026	19.08.2026	15	102	1530	Physical
187	12	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Chemistry)	SP	CMB	Dr.DTC	06-08-2025	07-08-2025	2	246	492	Physical
188	13	Importance of Research and Teaching of History	GOI	CTS	GVL	06-08-2025	08-08-2025	3	30	90	Physical

189	14	Training Program on Preparation of Bill under controlled & uncontrolled items of expenditrure - Mandatory Deduction theron	GOI	CFE (AcTW)	YR	11-08-2025	13-08-2024	3	30	90	Physical
190	15	Training Programme on Gender Issues.	GOI	CIS	GJR	11-08-2025	13-08-2025	3	30	90	Physical
191		Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Botony)	SP	CMB	Dr.DTC	11-08-2025	12-08-2025	2	224	448	Physical
192	17	Induction & Capacity Building Program to the newly recruited Jr.Assts of TGMREIS of TG	SP	СМВ	Dr.KVS	11-08-2025	14-08-2024	4	60	240	Physical
193		Education Management and Reforms in Telangana	GOI	CTS	Dr.P.S	11-08-2025	13-08-2025	3	30	90	Physical
194	19	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Zoology)	SP	CMB	Dr.DTC	13-08-2025	14-08-2025	2	212	424	Physical
195	20	Training Program on Sevottam Model for Effective Grievance Redressal Mechanism	Sevottam	CFE (AcTW)	GVRK	18-08-2025	20-08-2025	3	30	90	Physical
196	21	Sevottam Model: Ensuring Trust in Governance through Effective Service Delivery	Sevottam	CFE (AcTW)	GVRK	23-10-2025	25-10-2025	3	30	90	Physical
197	22	Training Programme for MPSOs/ ASOs of Economics & Statistics Department on Efficient Data Collection and Analysis	GOI	CIS	KSR	18-08-2025	20-08-2025	3	30	90	Physical
198	23	Basic Computer training on MS Office	GOI	CIT	Md.K	18-08-2025	20-08-2025	3	30	90	Physical
199		Basic Computer training on MS Office	State	CIT	Ch.S	18-08-2025	20-08-2025	3	30	90	Physical
200		2 Week ITEC - Training Program on Entrreneurship - creating successful start- Ups	SP	CLP	Dr.RM	18-08-2025	30-08-2025	16	30	480	Physical
201	26	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Political Science)	SP	CMB	Dr.DTC	18-08-2025	19-08-2025	2	78	156	Physical
202	27	Induction & Capacity Building Program to the newly recruited Jr.Assts of TGMREIS of TG	SP	СМВ	Dr.KVS	18-08-2025	21-08-2024	4	60	240	Physical
203	28	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Commerce)	SP	CMB	Dr.DTC	20-08-2025	21-08-2025	2	152	304	Physical

204	29	Training Needs Analysis (TNA)	GOI	CLP	Dr.RM	21-08-2025	26-08-2025	6	16	96	Physical
205	30	Refresher course on Courst cases - Legal Challenges in quality control Seeds,Fertilizers and Pesticides	GOI	CDS	КСЈ	21-08-2025	23-08-2025	3	30	90	Physical
206	31	Refresher course on Courst cases - Legal Challenges in quality control Seeds,Fertilizers and Pesticides (Re- Scheduled Prog), dt.9-11 June 2025	State	CDS	KCJ	21-08-2025	23-08-2025	3	30	90	Physical
207	32	Academic Leadership - Administrative Challenges	GOI	CDS	Dr.KUR	21-08-2025	23-08-2025	3	30	90	Physical
208	33	Training Program on Plan Your Retirement	State	CIS	KSR	21-08-2025	23-08-2025	3	80	240	Physical
209	34	Basic Course on Faecal Sludge Septage Management	GOI	CLP	Dr.KS	21-08-2025	23-08-2025	3	30	90	Physical
210	35	Advance Course on Office Procedures	GOI	CLP	Dr.KSK	21-08-2025	23-08-2025	3	30	90	Physical
211	36	Training Program on Entrepreneurship Development	GOI	CMB	Dr.DTC	21-08-2025	23-08-2025	3	30	90	Physical
212	37	Importance of Research and Teaching of History	State	CTS	GVL	21-08-2025	23-08-2025	3	30	90	Physical
213	38	Training programme on ACB/ Disciplinary Procedures / Vigilance procedures of State Audit Department	GOI	CFE (AdTW)	K.Babu	21-08-2025	23-08-2025	3	30	90	Physical
214	39	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Commerce)	SP	СМВ	Dr.DTC	22-08-2025	23-08-2025	2	152	304	Physical
215		Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Economics)	SP	CMB	Dr.DTC	25-08-2025	26-08-2025	2	270	540	Physical
216	41	Refresher Training Programme on Financial Management for Drawing & Disbursement Officers	GOI	CFE (AcTW)	YR	28-08-2025	30-08-2025	3	30	90	Physical
217	42	Training programme on prevention of child abuse at national & International Levels Role of state agencies	GOI	CIS	GJR	28-08-2025	30-08-2025	3	30	90	Physical
218	43	Training Program on Handling Court Case & Drafting Parawise Remarks	GOI	CLP	Dr.RM	28-08-2025	30-08-2025	3	30	90	Physical

219	44	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (civics)	SP	CMB	Dr.DTC	28-08-2025	29-08-2025	2	198	396	Physical
220	45	Training Program on Competency Mapping for Organizational Effectiveness	GOI	СМВ	Dr.KVS	28-08-2025	30-08-2025	3	30	90	Physical
221	46	Growth of Police and Modernisation with special reference to Telangana. (Postponed from 07-09 May)	GOI	CTS	Dr.P.S	28-08-2025	30-08-2025	3	30	90	Physical
222	47	Revenue Administration - Land Governance and Land Laws in Telangana	State	CTS	Dr.P.S	28-08-2025	30-08-2025	3	30	90	Physical
								192	3328	11366	
					Septem	ber2025					
223	1	Training Program on service matters and Office Procedures for the staff of agriculture and allied departments (PP dt.16-18 June 25)	State	CDS	KCJ	01-09-2025	03-09-2025	3	30	90	Physical
224	2	Training Programe on Preparation of Budget Estimates (R.Es & B.Es) - Treasury Financial Rules	GOI	CFE (AcTW)	YR	01-09-2025	03-09-2025	3	30	90	Physical
225	3	Training Probram on Sevottam Model for Effective Grievance Redressal	Sevottam	CIT	Ch.S	01-09-2025	03-09-2025	3	30	90	Physical
226	4	Foundation Course for Junior Assistants	State	CLP	Dr.KS	01-09-2025	30-09-2025	30	50	1500	Physical
227	5	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (History)	SP	CMB	Dr.DTC	01-09-2025	02-09-2025	2	171	342	Physical
228	6	Training Program on Hospital Administration for Medical Officers	GOI	CMB	Dr.KVS	01-09-2025	03-09-2025	3	30	90	Physical
229	7	Training Programme for Senior Auditors and Assistant Audit Officers on the usage of the Soft ware applications in Urb an Local Bodies facilitating ease in conduct of Audits and verification of Annual Accounts. (Postponed from 22-24 May)	GOI	CFE (AdTW)	GM	01-09-2025	03-09-2025	3	30	90	Physical
230	8	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (English)	SP	CMB	Dr.DTC	03-09-2025	04-09-2025	2	310	620	Physical
231	9	Training programme on Human Trafficking Measures for Sate security	GOI	CIS	GJR	08-09-2025	10-09-2025	3	30	90	Physical

232	10	Orientation Training Programme on eOffice Management	GOI	CIT	Ch.S	08-09-2025	10-09-2025	3	30	90	Physical
233	11	Orientation Training Programme on eOffice Management	State	CIT	Md.K	08-09-2025	10-09-2025	3	30	90	Physical
234	12	Effective Service delivery for Organizational Excellence	Sevottam	CLP	Dr.KSK	08-09-2025	10-09-2025	3	30	90	Physical
235	13	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Telugu)	SP	CMB	Dr.DTC	08-09-2025	09-09-2025	2	301	602	Physical
236	14	Natural Farming & Organic Farming for Sustainable Development	GOI	CDS	KCJ	08-09-2025	10-09-2025	3	30	90	Physical
237	15	Types of Disasters and Management	GOI	CDS	PVG	08-09-2025	10-09-2025	3	30	90	Physical
238	16	Skill Development initiative in Telangana	State	CTS	Dr.P.S	08-09-2025	10-09-2025	3	30	90	Physical
239		Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Hindi)	SP	CMB	Dr.DTC	10-09-2025	11-09-2025	2	107	214	Physical
240	18	Sensitization on Child Rights for Govt. Officials	GOI	CIS	KSR	15-09-2025	17-09-2025	3	30	90	Physical
241	19	Specialised Training Programme on Data Visualization with Excel	GOI	CIT	VJ	15-09-2025	17-09-2025	3	30	90	Physical
242	20	Specialised Training Programme on Data Visualization with Excel	State	CIT	Ch.S	15-09-2025	17-09-2025	3	30	90	Physical
243		Experiential Learning Tools (ELT)	GOI	CLP	Dr.RM	12-09-2025	16-09-2025	5	16	80	Physical
244		2 Week ITEC - Training Program on Media Management	SP	CLP	Dr.RM	15-09-2025	27-09-2025	16	30	480	Physical
245	23	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Languages)	SP	CMB	Dr.DTC	15-09-2025	16-09-2025	2	36	72	Physical
246	24	Training Program on Temples in Telangana past and presemt future (Postponed from 14-16 July)	State	CTS	Dr.P.S	15-09-2025	17-09-2025	3	30	90	Physical
247		Refresher training on Pyscho Social Support, Care in times of Crisis and Disasters (Postponed from 5-7 May)	GOI	CDS	KCJ	15-09-2025	17-09-2025	3	30	90	Physical
248	26	Training Programme on Drafting of para wise remarks in court cases & CCA Rules of State Audit Department	GOI	CFE (AdTW)	GM	15-09-2025	17-09-2025	3	30	90	Physical

249	27	ISABS Autumn Evenet	SP	CMB	Dr.DTC	16-09-2025	21-09-2025	6	50	300	Physical
250	28	Training Program on Recognised Contract Jr.Lectures of Intermediate Education (Languages)	SP	CMB	Dr.DTC	17-09-2025	18-09-2025	2	152	304	Physical
251	29	Training Program Education Reforms - Higher Education	GOI	CDS	Dr.KUR	18-09-2025	20-09-2025	3	30	90	Physical
252	30	Sustainable Development in the Face of Disasters: Mitigation, Adaptation & Recovery. (Postponed from 26-28 May)	GOI	CDS	KCJ	18-09-2025	20-09-2025	3	30	90	Physical
253	31	Training Program on Plan Your Retirement	State	CIS	GJR	18-09-2025	20-09-2025	3	80	240	Physical
254	32	Basic Course on Strategic Nala Development Program (SNDP)	GOI	CLP	Dr.KS	18-09-2025	20-09-2025	3	30	90	Physical
255	33	Training Programme on Telangana Panchayat Raj Act, 2018	GOI	CLP	Dr.KSK	18-09-2025	20-09-2025	3	30	90	Physical
256	34	Training Program on Leadership & Strategy	GOI	CMB	Dr.DTC	18-09-2025	20-09-2025	3	30	90	Physical
257	35	Role of women in History of Deccan/India.	GOI	CTS	GVL	18-09-2025	20-09-2025	3	30	90	Physical
258	36	Speicialised Training Programme on Income Tax - Filing 24G & 24Q Forms, GST & Uploads	GOI	CFE (AcTW)	YR	22-09-2025	24-09-2025	3	30	90	Physical
259	37	Training Programme on Health care and Sanitation.	GOI	CIS	KK	22-09-2025	24-09-2025	3	30	90	Physical
260	38	Sensitization on Sexual Harassment of women at work place Act, 2013	GOI	CLP	Dr.RM	22-09-2025	24-09-2025	3	30	90	Physical
261	39	Robust Service Delivery Mechanism Trough Sevottam Model for increased Citizen Satisfaction	Sevottam	CTS	Dr.PS	22-09-2025	24-09-2025	3	30	90	Physical
262	40	Sevottam Model: Ensuring Trust in Governance through Effecive Service Delivery (Postponed from 14-16 July)	Sevottam	CIS	KSR	25-09-2025	27-09-2025	3	30	90	Physical
263	41	Training Program on Artificial Intelligence for Good Governance	GOI	CIT	Md.K	25-09-2025	27-09-2025	3	30	90	Physical

264	42	Training Program on Artificial Intelligence for Good Governance	State	CIT	VJ	25-09-2025	27-09-2025	3	30	90	Physical
265	43	Capacity Building Program on Health Care Management for ANMs	GOI	СМВ	Dr.DTC	25-09-2025	27-09-2025	3	30	90	Physical
266	44	Creating Social Change : The Role of NGOs in Advocacy	GOI	CDS	КСЈ	25-09-2025	27-09-2025	3	30	90	Physical
267	45	Training programme on Leadership, Team Building and Stress Management to CIs and Sub Inspectors. (Postponed from 26-28 June)	GOI	CIS	GJR	25-09-2025	27-09-2025	3	30	90	Physical
268	46	Green Energy: Policies Initiatives in Telangana	State	CTS	Dr.P.S	25-09-2025	27-09-2025	3	30	90	Physical
269	47	Training Program on Stress Management (Postponed from 09-11 June)	GOI	CDS	Dr.KUR	25-09-2025	27-09-2025	3	30	90	Physical
								180	2383	7994	
					Octob	er2025					
270	1	Induction Training for Sr.Auditors recruited under Group-III	State	CFE (AdTW)	GM	01-10-2025	31-01-2026	120	50	6000	Physical
271	2	176th Induction Training Program for Sr.Accountants & Jr.Accts of T & A Department	State	CFE (AcTW)	YR	06-10-2025	04-11-2025	75	50	3750	Physical
272	3	Training Program to Jr.&Sr. Auditors and AAOs on General violations of Tender Procedures and raising audit paras	State	CFE (AdTW)	GM	06-10-2025	07-10-2025	2	25	50	Physical
273	4	Training Program on Plan Your Retirement	State	CIS	KSR	06-10-2025	08-10-2025	3	80	240	Physical
274		Specialised Training Programme on Data Analytics with PowerBI	GOI	CIT	Ch.S	06-10-2025	08-10-2025	3	30	90	Physical
275		Specialised Training Programme on Data Analytics with PowerBI	State	CIT	Md.K	06-10-2025	08-10-2025	3	30	90	Physical
276		Foundation Course for Junior Assistants	State	CLP	Dr.KSK	06-10-2025	04-11-2025	30	50	1500	Physical
277	8	Refresher Training Program on Parliamentary Procedures & Cabinet Note Preparation for in-service ISS Officers of NSSTA	SP- NSSTA	CLP	Dr.RM	06-10-2025	08-10-2025	3	30	90	Physical
278	9	Initiatives in Farms sector in Telangana	State	CTS	Dr.P.S	06-10-2025	08-10-2025	3	30	90	Physical

279	10	Training Programme on Human Rights	GOI	CIS	GJR	08-10-2025	10-10-2025	3	30	90	Physical
280	11	Advance course on Anti microbial Resistance in Animal Husbandry Sector	GOI	CDS	KCJ	08-10-2025	10-10-2025	3	30	90	Physical
281	12	Training Programme Calculation of retirement/terminal benefits under Old Pension System and Processing of PPOs received from the AG & DAO.	GOI	CFE (AcTW)	KNR	13-10-2025	15-10-2025	3	30	90	Physical
282	13	Training Programme for MPSOs/ ASOs of Economics & Statistics Department on Efficient Data Collection and Analysis	GOI	CIS	KSR	13-10-2025	15-10-2025	3	30	90	Physical
283	14	Robuat Service Delivery Mechanism through Sevottam model for inncreased citizen satisfaction	sevottam	CLP	Dr.KS	13-10-2025	15-10-2025	3	30	90	Physical
284	15	ITEC- Training Program on Digitailization and Human Resource Management (HRM) for Mid level Tanzanian Civil servants	SP	CLP	Dr.RM	13-10-2025	25-10-2025	16	30	480	Physical
285	16	Training Programme on Implementation of TS Bpass Act in ULBs – Audit Checks	GOI	CFE (AdTW)	GM	13-10-2025	15-10-2025	3	30	90	Physical
286	17	Training Program on Education Reforms and Challenges	GOI	CDS	Dr.KUR	16-10-2025	18-10-2025	3	30	90	Physical
287	18	Training Programme on Pre-retirement counselling	GOI	CIS	GJR	16-10-2025	18-10-2025	3	30	90	Physical
288	19	Orientation Training Programme on Cyber Crime & Cyber Security	GOI	CIT	VJ	16-10-2025	18-10-2025	3	30	90	Physical
289	20	Orientation Training Programme on Cyber Crime & Cyber Security	State	CIT	Ch.S	16-10-2025	18-10-2025	3	30	90	Physical
290	21	Advance Course on Noting & Drafting	GOI	CLP	Dr.KSK	16-10-2025	18-10-2025	3	30	90	Physical
291	22	Training on Continuous Professional Development and Improving Learning Outcomes	GOI	СМВ	Dr.KVS	16-10-2025	18-10-2025	3	30	90	Physical
292	23	Health Care and Sanitation Programmes in Telangana	GOI	CTS	Dr.P.S	16-10-2025	18-10-2025	3	30	90	Physical
293	24	Good Health and Well being, strategies for achieving sustainable development	GOI	CDS	PVG	16-10-2025	18-10-2025	3	30	90	Physical
294	25	Training Programme on Globalization. (Postponed from 9-11 July)	GOI	CIS	KSR	21-10-2025	23-10-2025	3	30	90	Physical

295	26	Ensuring accountability and transparency in governance through effective implementation of sevottam frame work for	sevottam	CDS	KCJ	13.10.2025	15.10.2025	3	30	90	Physical
296	27	increased citizens satisfaction Training Program on Communication & Presentation Skills	GOI	CLP	Dr.KSK	23-10-2025	25-10-2025	3	30	90	Physical
297	28	Basic Course on Strategic Road Development Program (SRDP)	GOI	CLP	Dr.KS	23-10-2025	25-10-2025	3	30	90	Physical
298	29	Heritage Laws and their Importance	GOI	CTS	GVL	23-10-2025	25-10-2025	3	30	90	Physical
299	30	Training of Trainers program on RTI Act for District Resource Persons	CSS-RTI	CIS	GJR	27-10-2025	29-10-2025	3	25	75	Physical
300	31	Voluntary Disclosure of Information under RTI Act	GOI	CIS	KSR	27-10-2025	29-10-2025	3	30	90	Physical
301	32	Orientation program on "Protection of Children from Sexual Offences Act (POCSO Act)"	GOI	CLP	Dr.RM	27-10-2025	29-10-2025	3	30	90	Physical
302	33	Training Program on supporting early childhood development, practical approaches for ICDS employees (PP, dt.9-11 June 25)	State	CDS	KCJ	29-10-2025	31-10-2025	3	30	90	Physical
303	34	Capacity Building for Teachers: Health Education in Social Issue.	GOI	CTS	Dr.P.S	30-10-2025	01-11-2025	3	30	90	Physical
								330	1120	14525	
					Novem	ber2025					
304	1	Trg Prog on SDG - 4 Quality Education	GOI	CDS	Dr.KUR	10-11-2025	12-11-2025	3	30	90	Physical
305	2	Training Programme on salient features of National Pension System, Uploading of amounts to PRAN, Exit and wihdrawals.	GOI	CFE (AcTW)	KNR	10-11-2025	12-11-2025	3	30	90	Physical
306	3	Training Program on Sevottam Model for Effective Grievance Redressal Mechanism	Sevottam	CIS	GJR	10-11-2025	12-11-2025	3	30	90	Physical
307	4	Participation of Women in Governance under Telangana Panchayath Raj Act 2018 and Telangana Municipalities Act 2019. (Postponed from 26-28 May)	GOI	CIS	KSR	10-11-2025	12-11-2025	3	30	90	Physical
308	5	Specialized Training Programme on Office Productivity	GOI	CIT	Md.K	10-11-2025	12-11-2025	3	30	90	Physical

309	6	Specialized Training Programme on Office Productivity	State	CIT	Ch.S	10-11-2025	12-11-2025	3	30	90	Physical
310	7	Foundation Course for Junior Assistants	State	CLP	Dr.KSK	10-11-2025	06-12-2025	27	50	1350	Physical
311	8	Training Programme on Anti-Corruption Laws and Vigilance Procedures	GOI	CLP	Dr.RM	10-11-2025	14-11-2025	5	30	150	Physical
312	9	Refresher course on Health Management in Telangana	GOI	CTS	Dr.P.S	10-11-2025	12-11-2025	3	30	90	Physical
313	10	Training Programme on Role of NGOs in deliverance of Government schemes or policies	GOI	CIS	KK	13-11-2025	15-11-2025	3	30	90	Physical
314	11	Capacity Building Program on Leadership and Change Management	GOI	CMB	Dr.DTC	13-11-2025	15-11-2025	3	30	90	Physical
315	12	Quality Control of Agricultural Inputs- Regulation & Enforcement	GOI	CDS	KCJ	13-11-2025	15-11-2025	3	30	90	Physical
316	13	Workshop for Examiners of Accounts, Financial Advisors and Asst.Examiners of Accounts working in MCs on per auddit of bills and the issues concerned with pre audit and checks to be exercised before and while making payments	State	CFE (AdTW)	GM	13-11-2025	15-11-2025	3	25	75	Physical
317	14	Training Program on Plan Your Retirement	State	CIS	GJR	17-11-2025	19-11-2025	3	80	240	Physical
318	15	Training Programme for Statistical Officers of Economic & Statistical Dept.	GOI	CIS	KSR	17-11-2025	19-11-2025	3	30	90	Physical
319	16	Specialised Training Programme on Data Protection and Social Media Concepts	GOI	CIT	Ch.S	17-11-2025	19-11-2025	3	30	90	Physical
320	17	Specialised Training Programme on Data Protection and Social Media Concepts	State	CIT	Md.K	17-11-2025	19-11-2025	3	30	90	Physical
321	18	Refresher Training Programme Administrative Law & Governance: Emerging Trends for in-service ISS Officers of NSSTA, GoI	SP- NSSTA	CLP	Dr.RM	17-11-2025	21-11-2025	5	30	150	Physical
322	19	Orientation on Poverty Alleviation Programmes in Telangana.	GOI	CTS	Dr.P.S	17-11-2025	19-11-2025	3	30	90	Physical
323	20	Training Programme on Ethics & Values in Governance. (Postponed from 24-26 July)	GOI	CLP	Dr.KSK	20-11-2025	22-11-2025	3	30	90	Physical

324	21	Basic Course on Geo Engineering Excellence - design of foundation of civil infrastructure challenges - solutions	GOI	CLP	Dr.KS	20-11-2025	22-11-2025	3	30	90	Physical
325	22	Training programme on the usage of software applications in Urban Local Bodies facilitating ease in conduct of audits and verification of annual account	GOI	CFE (AdTW)	GM	20-11-2025	22-11-2025	3	30	90	Physical
326	23	Advannce course on RTI Act for Education Departments	GOI	CIS	KSR	24-11-2025	26-11-2025	3	30	90	Physical
327	24	Training Program on Entrepreneurship Development	GOI	CMB	Dr.DTC	24-11-2025	26-11-2025	3	30	90	Physical
328	25	Training Program on Stress Management	GOI	CDS	Dr.KUR	27-11-2025	29-11-2025	3	30	90	Physical
329	26	Specialised Training programme on Pay Fixations in different conditions of service	GOI	CFE (AcTW)	KNR	27-11-2025	29-11-2025	3	30	90	Physical
330	27	Training programme on Gender Issues & POSH Act & General Concepts of Public Finance and Sexual Harassment at work place	GOI	CIS	GJR	27-11-2025	29-11-2025	3	30	90	Physical
331	28	Basic Computer training on MS Office	GOI	CIT	Md.K	27-11-2025	29-11-2025	3	30	90	Physical
332	29	Basic Computer training on MS Office	State	CIT	Md.K	27-11-2025	29-11-2025	3	30	90	Physical
333	30	Importance of Equine in culture and history of India. (PP dt.19-21 June)	State	CTS	GVL	27-11-2025	29-11-2025	3	30	90	Physical
334	31	Effective Sservice Delivery for Organizational Excellenace	Sevottam	CIT	Md.K	27-11-2025	29-11-2025	3	30	90	Physical
335	32	Training program on Importance of Equine in culture and history of India.	GOI	CTS	GVL	27-11-2025	29-11-2025	3	30	90	Physical
								124	1025	4395	
					Decem	ber2025					
336	1	Induction Training for JrAuditors recruited under Group-IV	State	CFE (AdTW)	GM	01-12-2025	31-03-2026	120	30	3600	Physical
337	2	Specialized training programme on Advanced MS Excel	GOI	CIT	Md.K	01-12-2025	03-12-2025	3	30	90	Physical
338	3	Specialized training programme on Advanced MS Excel	State	CIT	Ch.S	01-12-2025	03-12-2025	3	30	90	Physical
339	4	Foundation Course for Junior Assistants	State	CLP	Dr.KSK	01-12-2025	31-12-2025	31	50	1550	Physical
340	5	Training Program on Competency Mapping for Organizational Effectiveness	GOI	CMB	Dr.KVS	01-12-2025	03-12-2025	3	30	90	Physical

341	6	Training Programme for MPSOs/ ASOs of Economics & Statistics Department on Efficient Data Collection and Analysis	GOI	CIS	KSR	04-12-2025	06-12-2025	3	30	90	Physical
342		Implementation of TG Panchayat Raj Act 2018 - Issues & Challenges.	GOI	CTS	Dr.P.S	04-12-2025	06-12-2025	3	30	90	Physical
343	8	Ensuring hassle-free timebound quality delivery of Public Services through Sevottam frame work.	Sevottam	CTS	Dr.PS	08-12-2025	10-12-2025	3	30	90	Physical
344	9	Workshop on Voluntary Disclousure of Information under RTI Act	CSS-RTI	CIS	GJR	08-12-2025	09-12-2025	2	30	60	Physical
345	10	Refresher Training Programme on Financial Management for Drawing & Disbursement Officers	GOI	CFE (AcTW)	KNR	08-12-2025	10-12-2025	3	30	90	Physical
346		Training Programme on Social problems.	GOI	CIS	KSR	08-12-2025	10-12-2025	3	30	90	Physical
347	12	Educating for sustainablity : Incorporating SDG's into Curricula	GOI	CDS	KCJ	08-12-2025	10-12-2025	3	30	90	Physical
348	13	Advance course oon RTI for Indian Air Force Officers	SP	CLP	Dr.RM	08-12-2025	12-12-2025	5	15	75	Physical
349	14	Sustainable Livelihoods through MGNREGA in Telangana.	GOI	CTS	Dr.P.S	10-12-2025	12-12-2025	3	30	90	Physical
350	15	Service matters and Office Procedures for the staff of Agriculture and Allied Departments	GOI	CDS	KCJ	10-12-2025	12-12-2025	3	30	90	Physical
351	16	Training Programme on Gender Sensetisation	GOI	CLP	Dr.RM	15-12-2025	17-12-2025	3	30	90	Physical
352	17	Telangana History, Culture and Heritage of Telangana through ages	GOI	CTS	GVL	15-12-2025	17-12-2025	3	30	90	Physical
353	18	Learning from Success : Adaptive Management in NGOs	GOI	CDS	PVG	15-12-2025	17-12-2025	3	30	90	Physical
354	19	Training Program on Plan Your Retirement	State	CIS	KSR	15-12-2025	17-12-2025	3	80	240	Physical
355	20	Reforms in Higher Education and NEP- 2020	GOI	CDS	Dr.KUR	18-12-2025	20-12-2025	3	30	90	Physical
356	21	Ensuring accountability and transparency in governance through effective implementation of sevottam frame work for increased citizens satisfaction	Sevottam	СМВ	Dr.KVS	18-12-2025	20-12-2025	3	30	90	Physical

357	22	Training programme on writing skills on investigation reports, procedure, FIR etc. to Constables to CIs	GOI	CIS	GJR	18-12-2025	19-12-2025	3	30	90	Physical
358	23	Training of Trainers program on RTI Act for District Resource Persons	CSS-RTI	CIS	KSR	18-12-2025	19-12-2025	3	25	75	Physical
359	24	Basic Course on Urban Flooding & Mitigation Measures	GOI	CLP	Dr.KS	18-12-2025	20-12-2025	3	30	90	Physical
360	25	Training Program on 'Disciplinary and Vigilance Procedures'	GOI	CLP	Dr.KSK	18-12-2025	20-12-2025	3	30	90	Physical
361	26	Training Program on Team Building and Conflict Management	GOI	CMB	Dr.DTC	18-12-2025	20-12-2025	3	30	90	Physical
362	27	Post Harvest and Value addition in Horticulture	GOI	CDS	KCJ	18-12-2025	20-12-2025	3	30	90	Physical
363	28	Training Program on Drafting of Audit Objections and Audit Reports/ settlement of Audit objections	State	CFE (AdTW)	GM	19-12-2025	20-12-2025	2	25	50	Physical
								229	885	7540	
					Januai	ry2026			l		
364	1	177th Induction Training Program for Sr.Accountants & Jr.Accts of T & A Department	State	CFE (AcTW)	KNR	05-01-2026	20-03-2026	75	50	3750	Physical
365	2	Training Program on Preparation of Bill under controlled & uncontrolled items of expenditrure - Mandatory Deduction theron	GOI	CFE (AcTW)	YR	05-01-2026	07-01-2026	3	30	90	Physical
366	3	Training Program on Assessment and Accreditation	GOI	CMB	Dr.KVS	05-01-2026	07-01-2026	3	30	90	Physical
367	4	Induction Program on Women Empowerment schemes in Telangana.	GOI	CTS	Dr.P.S	05-01-2026	07-01-2026	3	30	90	Physical
368	5	Refresher course on Rural Infrastructure development planing and Execution	GOI	CDS	PVG	05-01-2026	07-01-2026	3	30	90	Physical
369	6	Training Program on Plan Your Retirement	State	CIS	GJR	07-01-2026	09-01-2026	3	80	240	Physical
370	7	Training Programme on Time Management in Multi tasking for government employees	GOI	CIS	KSR	07-01-2026	09-01-2026	3	30	90	Physical
371	8	NEP-Quality Education (Designing Online and Blended courses and new evaluation methods)	GOI	CDS	Dr.KUR	19-01-2026	21-01-2026	3	30	90	Physical

372	9	Tuoining Duoguam on Dissetan Disk	GOI	CDS	PVG	19-01-2026	21-01-2026	3	30	90	Physical
3/2	9	Training Program on Disaster Risk Reduction for Sustainable Development	GOI	CDS	PVG	19-01-2026	21-01-2026	3	30	90	Physical
373	10	Training Programme on Follow up action	GOI	CFE	GM	19-01-2026	21-01-2026	3	30	90	Physical
		on Audit Reports / ATR process in audit		(AdTW)							
374	11	Leadership and Governance for Institutional	GOI	CMB	Dr.DTC	19-01-2026	21-01-2026	3	30	90	Physical
		Excellence									
375	12	Climate adaptation for ensuring sustainable	GOI	CDS	KCJ	22-01-2026	24-01-2026	3	30	90	Physical
		livestock production Productivity									
376	13	Training Programme for Deputy Statistical	GOI	CIS	KSR	22-01-2026	24-01-2026	3	30	90	Physical
		Officers of Economics & Statistical Dept.									
		(Theme: Supportive Supervision)									
377	14	Basic Course on Solid Waste Management	GOI	CLP	Dr.KS	22-01-2026	24-01-2026	3	30	90	Physical
378	15	Advance Course on Office Management	GOI	CLP	Dr.KSK	22-01-2026	24-01-2026	3	30	90	Physical
379	16	Training Program on Interpersonal	GOI	CMB	Dr.KVS	22-01-2026	24-01-2026	3	30	90	Physical
		Relations									
380	17	Training Programme to Head Masters on	GOI	CIS	GJR	27-01-2026	29-01-2026	3	30	90	Physical
		Leadership Qualities and Community									
		Mobilisation in School Development									
381		Foundation Course for Junior Assistants	State	CLP	Dr.KSK	27-01-2026	23-02-2026	28	50	1400	Physical
382	19	Training of Trainers program on RTI Act	CSS-RTI	CIS	KSR	27-01-2026	29-01-2026	3	25	75	Physical
		for District Resource Persons									
383	20	Training Programe on Preparation of	GOI	CFE	YR	29-01-2026	31-01-2026	3	30	90	Physical
		Budget Estimates (R.Es & B.Es) - Treasury		(AcTW)							
		Financial Rules			~ ~						
384	21	Orientation Training Programme on eOffice	GOI	CIT	Ch.S	29-01-2026	31-01-2026	3	30	90	Physical
205	22	Management	G	CIT.	2.61.77	20.01.2026	21 01 2026		20	0.0	D1 ' 1
385	22	Orientation Training Programme on eOffice	State	CIT	Md.K	29-01-2026	31-01-2026	3	30	90	Physical
20.6	22	Management	COL	CTTC	D D C	20.01.2026	21.01.2026	2	30	00	D1 ' 1
386	23	Training Program on Forest conservation	GOI	CTS	Dr.P.S	29-01-2026	31-01-2026	3	30	90	Physical
		policies and practice in Telangana.						166	775	7175	
				<u> </u>	Fahrus	ry2026		166	175	/1/5	
207	4	AW LIEDO G	an.	Or D			14.02.2026	1.0	00	1 400	I ps · ·
387	1	2 Week ITEC - Capacity Developmenmt	SP	CLP	Dr.RM	02-02-2026	14-02-2026	16	30	480	Physical
200	_	course on Foreign Trade & Investment	GGG PET	CIG	IZOD	02.02.2025	02.02.202.5		20	- 60	D1 1 1
388	2	Workshop on Best Practices & Success	CSS-RTI	CIS	KSR	02-02-2026	03-02-2026	2	30	60	Physical
		Stories under RTI Act									

389	3	Training Programme for MPSOs/ ASOs of Economics & Statistics Department on Efficient Data Collection and Analysis	GOI	CIS	KSR	05-02-2026	07-02-2026	3	30	90	Physical
390	4	Specialized Training Programme on Office Productivity	GOI	CIT	VJ	05-02-2026	07-02-2026	3	30	90	Physical
391	5	Specialized Training Programme on Office Productivity	State	CIT	Md.K	05-02-2026	07-02-2026	3	30	90	Physical
392	6	Promotion of Farm Mechanization and Drones in Agriculture	GOI	CDS	KCJ	05-02-2026	07-02-2026	3	30	90	Physical
393	7	Orientation on Counseling Skills - Students Mental Health	GOI	CDS	Dr.KUR	09-02-2026	11-02-2026	3	30	90	Physical
394	8	Workshop on Voluntary Disclousure of Information under RTI Act	CSS-RTI	CIS	KSR	09-02-2026	10-02-2026	2	30	60	Physical
395	9	Traing Programme on Preparation of Records for Audit and Replies to draft audit paras	GOI	CFE (AdTW)	GM	09-02-2026	11-02-2026	3	30	90	Physical
396	10	Basic Course on Quality Control & Quality assurance in Infrastructure work	GOI	CLP	Dr.KS	09-02-2026	11-02-2026	3	30	90	Physical
397	11	Training Program on Disaster Prepardness and Sustainable Develomnent : Integrating Risk Management into Development Plans	GOI	CDS	PVG	11-02-2026	13-02-2026	3	30	90	Physical
398	12	Training Programme on Women Empowerment.	GOI	CIS	GJR	11-02-2026	13-02-2026	3	30	90	Physical
399	13	Basic course on Watershed development Planning & Programs in Telangana.	GOI	CTS	Dr.P.S	11-02-2026	13-02-2026	3	30	90	Physical
400	14	Training Program on Artificial Intelligence for Good Governance	GOI	CIT	Md.K	16-02-2026	18-02-2026	3	30	90	Physical
401		Training Program on Artificial Intelligence for Good Governance	State	CIT	Ch.S	16-02-2026	18-02-2026	3	30	90	Physical
402	16	Refresher course on Leadership and Team Building Skills for Organizational Excellence	GOI	CDS	KCJ	19-02-2026	21-02-2026	3	30	90	Physical
403	17	Training Program on Plan Your Retirement	State	CIS	KSR	19-02-2026	21-02-2026	3	80	240	Physical
404	18	Training Programme on Preparation of counter affidavits for WPs, PILs, filed Hon'ble Supreme Court, High Court and Tribunals etc. with Case studies	GOI	CIS	GJR	19-02-2026	21-02-2026	3	30	90	Physical
405	19	Refresher Course on Service Matters	GOI	CLP	Dr.KSK	19-02-2026	21-02-2026	3	30	90	Physical

406	20	Training Program for Health Supervisors of Residential Colleges	GOI	CMB	Dr.KVS	19-02-2026	21-02-2026	3	30	90	Physical
407	21	Importance of Archieves in rewriting of History	State	CTS	GVL	19-02-2026	21-02-2026	3	30	90	Physical
408	22	RTI Act for Welfare Departments	GOI	CIS	KSR	23-02-2026	25-02-2026	3	30	90	Physical
409	23	Foundation Course for Junior Assistants	State	CLP	Dr.KS	23-02-2026	24-03-2026	30	50	1500	Physical
410	24	Basic Course on Skills in English Communication	GOI	CLP	Dr.RM	23-02-2026	25-02-2026	3	30	90	Physical
411	25	Training Programme on Child Centric Disaster Risk Reduction	GOI	CDS	Dr.KUR	26-02-2026	28-02-2026	3	30	90	Physical
412	26	Training Program on Water Sanitation and Environmental Hygiene Practices. (WASH)	GOI	CDS	PVG	26-02-2026	28-02-2026	3	30	90	Physical
413	27	Basic course on Gender issues and Social Concern in Telangana.	GOI	CTS	Dr.P.S	26-02-2026	28-02-2026	3	30	90	Physical
414	28	Workshop on Effective Implementation on RTI Act	CSS-RTI	CIS	KSR	27-02-2026	28-02-2026	2	30	60	Physical
								121	910	4380	
			•		Marc	h2026				•	
415	1	Specialised Training Programme on Data Analytics with PowerBI	GOI	CIT	Ch.S	02-03-2026	04-03-2026	3	30	90	Physical
416	2	Specialised Training Programme on Data Analytics with PowerBI	State	CIT	Md.K	02-03-2026	04-03-2026	3	30	90	Physical
417	3	Refresher course on Groundwater Legislation and Policy Implementation	GOI	CDS	KCJ	02-03-2026	04-03-2026	3	30	90	Physical
418	4	Training programme on Financial management to GCC managers	GOI	CIS	GJR	05-03-2026	07-03-2026	3	30	90	Physical
419	5	Training cProgram on Capacity Building Program For College Librarians	GOI	CMB	Dr.DTC	05-03-2026	07-03-2026	3	30	90	Physical
420	6	Training program on Industrial Policy Initiatives in Telangana	GOI	CTS	Dr.P.S	05-03-2026	07-03-2026	3	30	90	Physical
421	7	Basic Course on GIS	GOI	CLP	Dr.KS	09-03-2026	11-03-2026	3	30	90	Physical
422	8	Training Program on Plan Your Retirement	State	CIS	GJR	16-03-2026	18-03-2026	3	80	240	Physical
423	9	Training Program on Change Management	GOI	CMB	Dr.KVS	16-03-2026	18-03-2026	3	30	90	Physical
424	10	Training Program on Assessment and Accreditation of Residential Degree Colleges	GOI	CMB	Dr.DTC	19-03-2026	21-03-2026	3	30	90	Physical

425	11	Training programme on usage of audit online application in conduct of audit of Panchayat Raj	GOI	CFE (AdTW)	GM	19-03-2026	21-03-2026	3	30	90	Physical
426	12	Training program on Voluntary Disclosure of Information under RTI Act at Gram Panchayath level	GOI	CIS	KSR	23-03-2026	25-03-2026	3	30	90	Physical
427	13	Orientation program on Rural Development Policies and Programs in Telangana.	GOI	CTS	Dr.P.S	23-03-2026	25-03-2026	3	30	90	Physical
								39	440	1320	
			l	I	Dates are n	ot mentioned					L
428	1	Training Program on Audit & Accounting Procedures for Lok Sabha Secretariat Officers	SP	CDS	Dr.KUR			6	40	240	Physical
429	2	Training Program on Psychosocial care in Disaster Management	SP-NIDM	CDS	Dr.KUR			3	30	90	Physical
430	3	Training Program on Disaster Management	SP-NIDM	CDS	Dr.KUR			3	30	90	Physical
431	4	Training Program on Child Centric Disaster Risk Reduction	SP-NIDM	CDS	Dr.KUR			3	30	90	Physical
432	5	Training Program on Child Centric Disaster Risk Reduction	SP-NIDM	CDS	Dr.KUR			3	30	90	Physical
433	6	Workshop on Child Protection and Child Rights in Disaster and Emergencies	SP-NIDM	CDS	Dr.KUR			3	30	90	Physical
434	7	Workshop on Health and Nutrition of women and children in Disaster and Emergencies	SP-NIDM	CDS	Dr.KUR			3	30	90	Physical
435	8	Training Program on Climate Impact - Climate and Sustainability	SP-NIDM	CDS	Dr.KUR			3	30	90	Physical
436	9	Training Program on Disaster Management	SP-NIDM	CDS	Dr.KUR			3	30	90	Physical
437	10	Training Program on Mental Health and Psycho Social Care for Children in Disaster	SP-NIDM	CDS	Dr.KUR			3	30	90	Physical
438	11	Capacity Building and to understand /gain knowledge for the best practices followed by the state officers of GNCT of Delhi	SP	CDS	Dr.KUR			6	30	180	Physical

439	12	Executive Health & Comprehensive Wellness	SP	CLP	Dr.RM	5	30	150	Physical
440	13	Training cum study tour for UP Civil Service Officers	SP	CLP	Dr.RM	5	50	250	Physical
441		Refresher Training Program on Establishment Rules and Matters for the Officials of KVIC, Mumbai	SP	CLP	Dr.RM	5	50	250	Physical
442	15	Training Program on GIS Officials of Town & Country Planning Department -6batches each bactch-50 participants	SP	CLP	Dr.KS				
443	16								
444	17								
445	18								
446	19								
447	20					36	300	10800	Physical
448	21	Training Program on Telengana Govt. Bussiness Rules and Secretariat Instructions for Officers & Staff (5-batches) (each program One day) 80 participants	SP	CLP	Dr.RM	5	150	750	Physical
449	22								
450	23								
451	24								
452	25								
			_			95	920	13430	
Total		452				2528	18888	117973	